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It excludes, one who throws a stone in their midst.

OVERVIEW

The 7127 derive the rule of 7 ¥ v 7%¥0»3 ¥12P 95 from the 1°%¥ op1 1% 29X 710D
(as the X3 here explains). However, 1792w °27 derives from this 2109 that if 1™2n1
7T DR A 7T DR N0a° that he is anonn Mwd. The question arises, from where does
' derive the rule of m:p.l

ndoIN asks:

= 199 NI WP PYNY 23997 NN
It is astounding! According to @', how does he derive the rule of 7xnn ¥1ap %o
"7 7%mn 9y, The rule of ¥12ap is derived from the 7109 of 12 2981 However, W' interprets the 109
of 31 7% 271 to exclude a murderer, who killed an unintended victim, from 1n°». From which
7108 does w'"1 derive the rule of ¥2p.

mMooIN anticipates a possible solution, and rejects it:
- 753495 930 IYNY 2397 (0w x,0¥ 91 PITNIEY PDIVIN PID 1PPONT D PN)

And one cannot answer that in °29w2 P99 the X2 concludes that w''9 agrees
with 529 -

= 99299 10 29X 19D NN NN NN G4
Who derives from the 7w 77°13 of 73901 72901 that 737 DX 3771 77 2757 17501 is only
1 20 and not rmvaf and therefore the P05 of Y» 298Y remains available, to

teach us the rule of ¥12p. This would seemingly answer the question. "1 derives ¥12p from
1% 29X1 as the 731271 do; and he derives the 17 of 121 11201 from the 73°01 73°03 W"TA.

mooIn rejects this answer:
$199212 IV 19NN PN NNT 2297 DD 5’97 2P N1 NI NYPIN 22T XINY NINT

For the question will still remain; according to the Xn>12 of ;7P 927,* how will

" The 1127 disagree with "9 and maintain that 21 77 DX 377 77 DX 2777 715N

* See “Thinking it over’ # 1.

’ The 77N states: (3"2122,85 D’UDWD) WOl NN A% 110K ORY Ratvibhol 101 "3 0K T R2Y ") 7907 AWK 19AN DOWIR XD 0
wo1 nnn. The P09 is discussing a case where the person intended to kill another, and instead harmed a pregnant
woman causing an abortion. If the woman was not killed, the aggressor must pay the damages of the fetus ( 01
o°9°%92). If the woman was killed, however, then the rule is w51 nnn wo1 nnn. According to *27 however, there is a
(@°2°292 1) Arn1 (Wo1 nnn) Arn1 MY 371, which teaches us that even if the woman was killed; the 3737 is only
obligated to pay money (but not to be killed). This w"r in effect teaches us that 71 nX 317772 11201 (the other person)
71 DR 39 (the 797 7WR), he is 7n°mn Mwo; the same ruling that W' derived from the P09 of 1% 27K

* It is written in the naY 27X 79 A89w° AnA2 7911 (X2,72 [R] X7p) 770, The 70 compares killing an animal to
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they know that ¥12p is 73 %y 1xnnd, since the 7P 27 disagree with 529, for
they maintain that if someone killed another unintentionally (intending to kill

another instead) he is exempt from paying monetary compensation.” Therefore, we
cannot interpret W91 NN wd1 NN to mean M7 (as "27 does); for there is no 1M1 21°17 (according to
7°P1n °27) if there was an 1OX. The 172°n1 73°01 w13 cannot teach us that 737 DX 3771 77 IR 2779 PN
is n 2»m anonn Mwd. According to PP °27, we derive that Mwd T DR 37T 7T A177 11501, only
from "1 1% 29X, The question remains; if they derive from 12 29X1 the 17 of 121 2979 11on), from
where do they derive the 77 of :12p?! mooIn does not answer this question.’

SUMMARY

"3 cannot derive ¥12p from 172 27X (he needs it for 21 21172 1"15n3). He cannot
derive from 11°n1 711°N1 according to the P11 27 Xin. From where does w"1 derive
the rule of »12p?!

THINKING IT OVER

1. mooIN initially attempted to answer that w" derives the rule pf a7 211732 15n3
Mo 71 R A, from N el (like *27).” However the X here states that he
derives it from "3 1% 29X, how can nMpOIN assume that he derives it from 71°n3
a2t

2. Explain: a) how we know that 7P °27 maintain that 37 DX 337 77 217732 1001 is
Tvo; and b) how does 7°p11 27 know that 1"&31% 11901 is Mwo!

slaying a person. 1°p1n1 27 derive from this wp° i that just as the laws concerning 717772 791 are universal; there is no
difference between 11201 and 71201 1K, etc. (he is always obligated to pay), so too by X ;197 there is no difference
between 1™M>n»n and 71207 K (concerning payments). We know that if a person kills 112072 he is Mo from any
monetary damages on account of 7°» 72772 72 op. Similarly (even) if he killed 7507 %2 (when he is not put to
death), he is also 7"m7wnn o,

> The wp 1 of "3 mana 7o is necessary to teach us (according to 7°p1 °27) that there is never a Pmown 200 if ANy is
involved even by 21 i1 nR 21772 11901 From this we also derive that 7°p1n 27 maintain that 151 21972 1501 s WD
anenn; for if it would be nn°m 27, then the wpn of mnna 157 is unnecessary to exempt him from pny2wn. It is a
‘regular’ 711 1712772 72 op. It is therefore apparent that the P11 27 agree with @' that 77 DX 37 AT IR 2977 11201 is
N7 MWD,

% See 1"mn.

7 See footnote # 2.

¥ See 7"mn.

2

TosfosInEnglish.com



